Whitman College

Econ 308

Exam 4

November 21, 2003

Write all answers in your bluebook.  Show all of your work.  The exam ends at 9:50.

1. (a)  (15pts)  With reference to a Keynesian Cross diagram, discuss how a tax cut would affect real aggregate output in the Keynesian Cross Model.  Refer to the concept of a tax multiplier in your discussion, and show on your graph the tax multiplier effect. 

(b)  (15pts)  Explain how the same decrease in taxes which you described in part (a) would affect real aggregate output and real interest rates in the IS-LM model.  Show the effect on an IS-LM diagram.  In your explanation, discuss how the same tax cut produces different effects in the Keynesian Cross versus IS-LM model.

(c)  (5pts)  List the fiscal policy lags associated with a tax cut.

2.  (15pts)  Suppose the government wanted to use economic policy to make private investment expenditures rise, but not change real aggregate output.  In the IS-LM model, what combination of monetary and fiscal policy could achieve this goal, and what would happen to the real interest rate under this combination of policies?  Explain, with reference to an IS-LM diagram.  

3.  Some critics of the IS-LM model point out that the assumption of fixed prices makes the model deficient in some respects.  For instance, the model cannot explain what would happen to the price level if the economy experienced a supply shock.  Some economists chose to amend this deficiency by using the IS-LM model as the starting point for deriving a Keynesian sticky wage Aggregate Supply - Aggregate Demand model. 

(a)  (15pts)  Use the IS-LM model to derive an Aggregate Demand (AD) curve.

(b)  (10pts)  On a separate diagram from part (a), draw the Short Run Aggregate Supply (SRAS) curve for the Keynesian sticky wage model.  Describe what causes the shape of the SRAS curve in this model.  

(c)  (15pts)  On your diagram from part (b), add an AD curve.  Assume that the economy initially operates at the natural rate of output, and show this situation on your diagram.  With reference to your diagram, describe the effects of an oil price shock that comes via a sudden and steep reduction in the price of oil.

4.  (a)  (5pts)  With reference to the National Income and Product Accounts identity, show that when a country runs a trade deficit, its investment expenditures exceed the sum of its public and private savings.  

(b)  (5pts)  True or false?  A country that runs a government budget deficit will necessarily also run a trade deficit.  Explain, with reference to your result from part (a).   

